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ECONOMICS

Paper : ECO-SE-4014

( Data Analysis )

( Skill Enhancement Course )

Full Marks : 50
Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any four of the following questions :
1x4=4
©o R e it e S i

(a) Define rank correlation.
T AT vice

(b) Find geometric mean of 8 and 2.
8 ¥ 27 GUeIed Wy et |

{c) Define median.
FYN AT fa |
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) (3)
(2 |

{¢) Mention two disadvantages of

' |
(d) Find range from the following : | arithmetic mean,
|
|

oo il $YR o[ PR Sl

FART TR 751 SR Brard 2 ¢
150, 100, 200, 400,
} (d) Mention two measures of dispersion.
(e} What is skewness? ‘
SRfarer R 2 ‘ R 51 et eme w1
() Mention one merit of scatter diagram. : (e) What do r=0 and r =1 mean?
2R o ot 0 ey 41 | r=0F r=1cx & 3o 7
tion coefficient be greater !
{g) Can ‘::::;18‘ ° (7 Distinguish between an estimate and an
TR QI GFOLT TS T I ? estimator.
(h) Wha is parameter? : ST W AR W] 13 Ry 47 1
e 19
i tions : 3. Answer any two of the following questions :
2. Answer any three of the following ques :’3x3=6 Sx2-10
‘ ST R I G5t 2w g ey
oo R e Fobt e s fimn _ e
f MS-Excel 1 {a) Find median from the following data :
; -Excel. ‘
{a) Write two uses o X ! ’
MS-Exceld 981 I8 frar 1 | G SR ] T Seneay
: the following data : Marks No. of Students
(b} Find mode from wing | (79) (e
o] ©YR #[R1 I Sfereq : : 10 asih
b ¢ " f(frequency) i gg ;g
( IER_E) ‘ 40 20
5 2 { 5o 20
ig 163 | 60 5
20 7 !
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(4) (S)

(b) Explain the merits of mode as a (b) Find arithmetic mean :

measure of central tendency. SNET My Sfere ;
R 2T et ROt T TR T X 5
Al 0-10 5
(¢ Find harmonic mean from the ;g - gg ;g
following : 30 - 40 30
were fafRiRT e Wi Sfeer - 40 - 50 20
5, 7, 10, 13, 15, 20, 25, 28 50 - 60 10
(d) Explain the difference between mean () Find mode from the following data :
deviation and standard deviation. CE] OUN [ W Sl
% Roem = o RemR wrew o arm Size of Garment No. of Persons Wearing
90 (¢T3 C7) (FPracaires =am)
28 10
(e} Explain the main features of 29 20
Spearman’s rank correlation coefficient. ‘ 30 . 40
RRRGFR T TS QR cREERR 31 65
AT 30 A 32 - 50
33 15

() What is an unbiased estimator? (d) Calculate standard deviation from the

Explain. following data :
TFSF SRS &7 3 <7 1 Tod U {1 TS fiverw e
4. Answer any three of the following questions : Profits (¥ Lakh) No. of Companies
- =TS (#14 537S) (CPT=9I913 37)
o R cae ol era e fin 10%3=30 <(>-10 12
., 0 - 7
(@) What are the qualities of g good ég - gg ;3
average? Discuss. e 30 - 40 39
1 ST TSR BT R R 2 Siemar 9 | 40 - 50 16
50 - 60 03
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te) (7)
(e} Calculate Karl Pearson’s coefficient of () From the folldwing data, obtain the two
skewness : regression coefficients :
Tl PRIRE St ae Shiea : SO YR ] T B 751 S :
X 4 X Y
12:5 28 6 9
175 42 5 1
225 54 10 5
27-5 108 4 8
325 129 8 7
375 61
425 45
475 33

% % %

(/ Discuss how scatter diagram method is
used for studying correlation.
TR WA WA A B omS Rea ,
IR A W, A 4 | |

{9) Find Pearson’s correlation coefficient ‘

from the following data and interpret
the result :

T4 YR *[1 PRI T 9ais SRieqr
SIF FEATECH! B A

Marks in Economics Marks in Statistics
(FARTTR)  (ARowan R )
48 45

35 20
17 40
23 25
47 45
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